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Introduction to MATLAB
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Why MATLAB ?
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MATLAB % ¢
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MATLAB % ¢
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[ Q) #1fa]#E AMATLAB ?

« stepl ##E AWindows
o step 2 & AMatlab

«:MATLAR




ATLAB

|File Edit Debug Deskiop Window Help
Hew v i | » | Corrent Directory: | C-MATLABT04
Open... Chl+0
Close Comumand, Historos Chel+ W
Import Data....
Save Workspace Ls... Chl+s FF

Set Path. . _|

Preferences...

Command Window

Page Setup...

Brint ..

Print Selection...

1 CAMA TL ABT04 ok o

2 CA B080BYCa]_genetic.m

3CAL BMIMO Delay o NL.m

4 CALsve MO _Delay nm

Exit MATLAB Cirl+Cy

[ Iun—r

Current Di.recb:ryl Workspace I

Command History




MATLARB
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Copy

Paste
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Find Files...

Clear Conmand Window
Clear Commnand History
Clear Workspace
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[Q]) P A HBEFE ?

* Ex1: 7 &5fe- &4 > 2 BT Hr?
>>chicken=5;

>>rabbit=2;
>>|legs=chicken*2+rabbit*4

B TEER
legs =
18




. Ex 2: 3k e -cos(3)/sin"*(0.5)

>>exp(-3)*cos(3)/asin(0.5)
ans =
-0.0941

e Ex 3; 23=?

>>2N 3
alns =
38
NOTE: 5Bk N x /[ + -




s Ex4: R4 Hix}¥,E 3bar=7psi
( 1 bar = 100000 pa = 14.50377 psi = 750 mm Hg )

>> 3*14.50377
ans =

43.51131

c Ex5: #MEH+HE 4KI(+ E)=?Kcal (++)
(1 KJ = 102 kg-m = 0.2389 kcal = 0.9478 Btu)

>>4*0.2389
ans =

0.9556




[Q] %k & 4 U4
- Bl L] TR WE3F
¥ -FAA 0 L&k
c AL BETIER K

« Ex1: c123 (0)
4¢123 (X)
c 123 (o)
c-123 (X)




[Q) F5R 1 5

;%
RUNPITER
L




[ Q] Getting workspace information

who
wWhos
oll§
what
clc
clear

>>clear all
>>clear ab

YR % B & A
Yokgr W LALE H & o] RSN
087 # Hh%

%kg T % % k. mzt k. mat
%¢%“K

%if 4 % e




[Q] ¥ AL%F Sk

. abs(x)
. acos(x)
. acosh(x)

. angle(x)
. asin(x)
. atan(x)
. atanh(x)

Op B~’3 ¥t i
% cos '(x)

% cosh '(x)

% #F B & B
% sin '(x)

% tan '(x)

0% tanh '(x)




[Q] ¥ AL%F Sk

8. cell(x) % P miFiT P <3RBT K

9.
10.

11.
12.
13.
14.
15.

(JiFEEr)

floor(x) % P~33d%iT ¥ /| 3 R o ik
round(X) % = #£ 7 > (B3 F#cs b))
fix(X) % #m % %353

conj(x) % =+ #=4§ H

cosh(x) % cosine hyperbolic function
exp(X) % exponential : ¢*

real(x) % HYEES imag(x) HUEEHD




[Q] ¥ AL%F Sk

. log(x) % log.x=Inx
. l0og10(x) % log,, x
.rem(x,y) % XxlyséREc

. sign(x) % B~1- § 5L
. SIN(X)
. Sinh(x)

. sgrt(x)
. tan(x)




« Ex1: &f& ax®+bx+c=0

>> L 37 X %, :—bi\/b2—4ac
2a

>>a=1,; b=2; c=3;
>>x1=(-b+sqgrt(b”2-4*a*c))/(2*a)

x1 =
-1.0000 + 1.4142i

>>x2=(-b-sqgrt(b”2-4*a*c))/(2*a)

X2 =
-1.0000 - 1.4142i




[Q]) 5 Migdc2 48

(1) p 2 HE0Z |

>>x=1+Cc0s(2)*I

X =
1.0000 - 0.41611

NOTE: #i2Z A EFPEREFZI> 77 AHFPE T F5
(2) g8~ %2 &8  abs(x), angle(x)
(3) @ %% R real(x) , imag(x)

(4) 4f <2 L Pe4g B conj(X)




[Q] # & 4riP e 7

(1) = & &3¢
Ex1:
>>x=[1 2 3]

X =
123

>>x=[pl1/2 sqrt(2) 2]

X =
1.5708 1.4142 2.0000




(2) » & 2. %2

1. x=[1 2 3] %1x 3] &

2.x=1:1:3 or x=1:3 QoI Bl
X=rREIR1H T = 4HE

Ex1: O~mH{|EE
>>x=0:pi/9:pi
X =
Columns 1 through 7
0 0.3491 0.6981 1.0472 1.3963 1.7453 2.0944
Columns 8 through 10
2.4435 2.7925 3.1416




Ex2: O~mH{ &k

>>x=linspace(0,pi,10)

X =
Columns 1 through 7
0 0.3491 0.6981 1.0472 1.3963 1.7453 2.0944

Columns 8 through 10
2.4435 2.7925 3.1416

NOTE: x=linspace(#£451H, #H, B0

0227[3%47[57[6%77[87[”
9 9 9 9 9 9 9 9




Ex3: 109~102 By11&kL

>>x=|logspace(0,2,11)

X =
Columns 1 through 7
1.0000 1.5849 2.5119 3.9811 6.3096 10.0000 15.8489

Columns 8 through 11
25.1189 39.8107 63.0957 100.0000

l.e., X7




B) drrB-ding 2 >E 2
>>X=[1 2 sqrt(2)];
>>X(3)

ans =
1.4142

(4) »EEH
>>x=[1 2 3];
>>y=coS(X) % note: y=|qj&
y —
0.5403 -0.4161 -0.9900




Ex: ZEf e wERt2RAD
& o %?%ﬁtﬁm& R4 5 ”l 1""'
F e gl o

>>t=[100 200 300 400 500]; % temperature in K
>>p=[23456]; % atm

>>n=1; % mole

>>r=8.314; % joule/K mol

>> v=n*r*t./p

V =
415.7000 554.2667 623.5500 665.1200 692.8333

NOTE: RSt/ ZRIRYRS. RonE ENSBUEZAMBERIVET R




(5) roots f# 5 FE; (v e ?)

n
a X" +a, X"+ +ax +a,=0

Usage: roots([ a, a a, - a 3 |)

Ex: 2 +3x*+x°+1=0
>>roots([230101))

ans =
-1.7246
-0.3632 + 0.6597i
-0.3632 - 0.6597I
0.4755 + 0.5339;
0.4755 - 0.5339




(6) & & &
>>x=[1 2 3 3 2 1];
>>y=[4 5],
>>a=[x Y]

3




(1) v & 2_ 4 i
EX:

>>x=[1 2 3]
>>a=x+1 %mEEi%

a=
2 3 4

>>1-X

ans =
0 -1



>>x=[1 2 3];
>>y=[4 5 6];
>>X+y  YaE

ans =
5 [ 9

>>7=[-1 -2];
>>X+Z

??7? Error using ==> +
Matrix dimensions must agree.
NOTE: x+z %w» & %/ % - X, &3 8




(2) » ez
>>x=[1 2 3];
>>pi*x %4l E I H =

ans =
3.1416 6.2832 9.4248

>>x=[1 2 3];
>>y=[4 5 6];
>>X.*y %[ E3FEA =




(3) v & ez i3

Bsfe AAH A, H .y § X\YET %
>>x=[1 2 3];

>>y=[4 5 6];

>>x.ly %R ELRF =

ans =
0.2500 0.4000 0.5000




[Q)] &g B

EX:
>>x=[1 2 3]; WF|[HE
>>y=x' WfTHE




Ex: (12 3)Hi(456) NfE=?
>>x=[1 2 3];
>>y=[4 5 6];
>>x*y' % NiE

ans =
32

>>X.*y YEj&
ans =
4 10 18




EX:
>>X=[1+1 2 3-I];

YoILEEEEE

>>X

ans =

1.0000 - 1.0000i
2.0000
3.0000 + 1.0000i

>>X

ans =

Yok

5 B (HAEEE

1.0000 + 1.0000i
2.0000
3.0000 - 1.0000i




[Q] &t drim 2

(1) -ﬁrf?ﬁj » — B
=

>>A=] 3

1 2
4 5 6 ||-
/7 8 9],;

N
= = .

>>A=[1 2 3;456;7 8 9];




(2) &L i

>>A=[1 2 3;456;7 8 9]
>>R=[10 11 12]

A =

10 11 12




SEER
>>R=[10 11 12]

10 11 12

>>C=[A;R']
??7? All rows in the bracketed expression must
have the same number of columns.




EX:
>>a=[1 2,3 4],
>>a(3,3)=1; % aft




() drr KBV R E A E A - B3I

>>A=[123;456;7 8 9]

>>X=A(3,2) %X=A(row , column)
>>B=A(1:2,1:2)

>>C=A(:,1:2) %C=A (£H , F—TEFE_1T)
>>D=A(2:3, ;)

>>E=A(1:2,[1 3])







(4) - LAp MR 3p 4
flipud(a) %_[- T EH{E

fliplr(a)

Yo/e A HA T

rot90(a) %iEFE 90 (A1 £1)

reshape(a,m,n)
diag(v)

oS AT T
VL 4T T Bl [




(5) L@ ¥




NOTE: B~ 46 % /| R
[r,c]=size(A)

=58 c=178&
n=length(v)

RN B Z REBJERE

NOTE: R4EL ¥ 5 » &

>>A=[1 2; 3 4],



NOTE: #-EH ek {7 + % 70if 4
S

3 4

_5 6_

>>A=[12; 34, 5 6],
>>A(2,:)=[ ]

A =
1 2
5 6

i ey EhzE 2 (RVEUH)




[Q) =85 b4 2

. det(A) %175 E

. inv(A) %z K e

. eig(A) YFFHEUE

. rank(A) %ork ~ e

. cond(A) %2-normf{iE{455

. poly(A) WL THE

. polyvalm(v,A) %fEf#E % IE= K {HE
. expm(A)

. [r,c]=size(A)

0. n=length(v)




1
2
3
A
o)
6
4
8

[Q] - £ FFRE"

. eye(n,m)

. eye(n)

. ones(n,m)
. ones(n)

. zeros(n,m)
. zeros(n)

. rand(n,m)
. randn(n)

% EAfi7 B fENXmM

% EAfi7 FEfENXN

%' E AR P NX M2 35 1
%' EFEfENXn 2 E fyl
O AR nxmM 42345 550
ot B A nxN 4320 B0
% BB T B nxm ) R FE
% BLEL T B nxn ) AR FE




[Q) A= & 42 3\

Ay X + Xy +a3Xg oo+ A Xy =By

) .

ka.nlxl + an2X2 + an3X3 SRR anme — bn

A, xX=b 2 AENNE o AEmB




[casel] n=m
det(A)#0, Al% &> X=Alb

>>A=[11; 2 3];
>>p=[1 -1]";
>>x=InV(A)*b
X =
-2.0000
1.5000

>>x=A\b

X =
-2.0000
1.5000




[case2] n>m
overdetermined case (& ji#)
MATLAB & i7 02f% » & T 3 324 f2

>>A=[12; 34;1-1];
>>p=[1 2 3]';
>>x=A\b
X =

1.9194

-0.8548




[case2] n<m
underdetermined solution & *2 % fi#

MATLAB & i 31 2 f2

>>A=[12 3;10 -1];
>>b=[1 2]
>>x=A\b WHEERENST
X =

1.7500

0

-0.2500
>>x=pinv(A)*b YFEFBEEITHYE
X =

1.5000

0.5000

-0.5000




12 18
15 22
13 19
14 23
10 20

* NOTE: AU




[Q ] 4@ i\ * Bep 6 ?

>>|load data.m >>|load data.mat
data data

12 18 12 18

15 22 15 22

13 19 13 19
14 23 14 23

10 20 10 3 20

H(save workspace as data.mat)




>>[r,c]=size(data)
r=5
c=3

>>data(3,2)
ans=
5

NOTE: tE S8 14




[Q]) HE* &

>>[m,index]=max(data)
e Note: m% = Bcolumnz B+ &, index &

< B2

m=15 9 23
Index=2 2 4




[Q) 5] E

>>[n,Index]=min(data)

n=10 3 18
Index=5 5 1




[Q] &% =g fv SUM

>>avg=mean(data)

avg=12.8 6.4 204

>>s=sum(data)

s=64 32 102




NOTE: dc3j 4 45 48 M 43 4

corrcoef(x)

cov(X)

cumprod(x)

diff(x)

hist(x)

median(x)

prod(x) YozEi3fE
sort(x) %HER
std(x) VoREAEFE




[Q] 4riF s & ~ F P il

t='feng chia university’;
u=t(11:20)
v=t(20:-1:11)

u —

university
V —
ytisrevinu




* F 21 ASCII2 B 5%

s='abcdefg’;

m=abs(s)
m =

O/ 98 99 100 101 102 103
m=m+0

m =
97 98 99 100 101 102 103

setstr(m) YoB{E XL F
n=s+'a’-'A' N ARE/NE

c=n+A'-a




equal to
not equal to




EX:
>>a=[1 2 3 4],
>>p=[56 7 2];
>>a>hb

ans =
0O 0 0 1

>>tf=b-(a>2)
tf =




Ex: Find out Gkife) o x=-1:1/3:1
X

>>x=-1:1/3:1;
>>sin(X)./X
Warning: Divide by zero
ans =
0.8415 0.9276 0.9816 NaN 0.9816 0.9276 0.8415

>>X==
ans =
O 0 0 1 0 0 O
>>x=x+(x==0)*eps; NOTE: eps NERLEE 2.2204e-16
>>sin(X)./X
ans =
0.8415 0.9276 0.9816 1.0000 0.9816 0.9276 0.8415




>>tf=a>4
=
O 0O 0O O 1 1 1 1 1

>>tf=~(a>4)
tf =
1 1 1 1 0 0 0 0 O

>>tf=(a>2)&(a<6)
tf =
|




